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1= 22,526, 484
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1= 22,526, 484
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1= 11,993, 135
BEERAE R—1) 5D 14.00m, R—1J>5®@ 8.00m, R—1) 5B 6.00m., R"—1)>5@ 42.00m.
1% 11,975,135 R—U 27D 6.00m, R—1 5@ 14.00m. K=Y 5@ 14.00m, R—1) > 5@ 17.00m,
EEEARRD 6.00E., ZEEARERO 42.00E, 1ZHEEARERD 20. 00, ZEEAKBKRO 17.00E.
ENOLEOERHEIRO 14.00K, EhDDgOEPHERO 8. 004K, ELh 0S4 VEHEERD® 4. 004,
EADDE VKRR 8.004&, P - SIRED 34.00m, P - S#&E®@ 9.00m. #IPEER 1.00=X. H2ER 1. 00K,
MESMER 1.00xX. EHBER 1.00X. HaTHE 1.00E. FEHRE 1.00E. &#EHE 1.00E
EEZEE ELHhBERT - A—RREE 1.00=
1= 18, 000
AT
1= 10, 533, 349
FERE AEER 1.00xX. CBRHECGEL) 7.00thm. MIERE FEL) 0.31km, BIHHEIIAAK 2. 00F,
s 10, 533, 349| RIHERE (X/3y F&AM) 2. 008FT. BEHBH (X/\y FEM) 5 00BFT. BGEE (R/3y FE#M) 2. 00& AT,

RIBEM (R/3y FEM) 1.00X, BiHRER 2. 00F/AT. Ri@EM - BE 1.00=X. #AHEHK 1,00,

HAER 1,00, EHMLER 1.00X, ®2#& 1.00X, HHESKEE 700.00m 2, TLEHRM 1.00=K,
KERBEHO 1.00=X. KEREHD 1.00X, HEREHD 1. 00X, HERIEH 1.00xX, ETEEE 1. 00K,
ETRERE 1.00=X
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